
Populations Equation

Eggs: E(t) E(t-1) + ΔAg1(t-1)*Eb + ΔAg2(t-1)*Eb - ΔE(t-1) - E(t-1)*(1-Es(t-1))

Larvae: L(t) L(t-1) + ΔE(t-1) - L(t-1)*(1-Ls(t-1))*(1-Lds(t-1)) - ΔL(t-1)

Pupae: P(t) P(t-1)+ ΔL(t-1) - ΔP(t-1) - P(t-1)*(1-Ps(t-1))

Naïve Adults: An An(t-1)+ΔP(t-1) - An(t-1)*Af(t-1)*Ab(t-1) - An(t-1)*(1-As(t-1))

Gravid Adults: Ag1 Ag1(t-1) + An(t-1)*Af(t-1)*Ab(t-1) -ΔAg1(t-1) - Ag1(t-1)*(1-As(t-1))

Questing Adults:Aq Aq(t-1) + ΔAg1(t-1) + ΔAg2(t-1) - Aq(t-1)*(1-As(t-1)) - Aq(t-1)*Ab(t-1)

Gravid Adults: Ag2 Ag2(t-1) + Aq(t-1)*Ab(t-1) - ΔAg2(t-1) - Ag2(t-1)*(1-As(t-1))

Infected Adults: Ai Ai(t-1) + An(t-1)*Af(t-1)*Ab(t-1)*Iv(t-1)*Hip(t-1) + Aq(t-1)*Ab(t-1)*Iv(t-1)*Hip(t-1) - Ai(t-1)*(1-As(t-1))

Human Suseptible: Hs Hs(t-1) -  Ih(t-1)*Aq(t-1)*Aip(t-1)*Ab(t-1)*Hsp(t-1)

Human Exposed: He He(t-1) + Ih(t-1)*Aq(t-1)*Aip(t-1)*Ab(t-1)*Hsp(t-1) - ΔHe(t-1)

Human Infectious: Hi Hi(t-1) + ΔHe(t-1) - ΔHi(t-1)

Human Recoverd: Hr Hr(t-1) + ΔHi(t-1)

Population Proportions

Infectious Mosquitoes: Aip(t) ΔAi(t-1) / (Ag1(t-1) + Aq(t-1) + Ag2(t-1))

Infectious Humans: Hip(t) Hi(t-1) / (Hs(t-1) + He(t-1) + Hi(t-1) + Hr(t-1))

Susceptible Humans: Hsp(t) Hs(t-1) / (Hs(t-1) + He(t-1) + Hi(t-1) + Hr(t-1))

Water Volumes

Human Managed: Wh Wh(t-1) + Pr(t-1)*Ca*(1-Cc) - Ca*(1-Cc)*Ev(t-1)*(1/5)

Open Containers: Wo Wo(t-1) + Pr(t-1)*Ca*Cc - Ca*Cc*Ev(t-1)

Note: If H ip  < I b  then I b  replaces H ip

Δ A g1  and Δ A g2 assumes water is available to lay eggs on/around

Δ denotes members that have completed the stage

Pr = Precipitation

W h  and W o  will no longer fill once they meet the maximum capacity (C a *(1-C c )*C h  and C a *C c *C h )


